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) l+l= o
| | | | >
1 2 3 4 5

b) 2+ 1=
l | | | >
1 2 3 4 5

) 2+7-=
| | | | >
1 2 3 4 5
d 3+2=-__
| | | | >
1 2 3 4 5
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WALT: Counhng on us‘mg a number line (UP lo 10) .
0) 3 + 5 =

Dérb=__
< | >
| 2 3 L 5 6 7 8 9 0
C)7+2:




WALT: Counhng on us‘m9 a number line (up lo 20)
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Y Number Line: 0 - 20 J Y v/ .
a)b+2-=
12 3 4 5 6 7 8910 I 213 1415161718 19 20
b) 8 + 4 =
I234567éq|O|I|2|3|4I5I6I7I8Iq20
cd 9+2-=
| 2 3 45 6 7 89101 213 141516 1718 19 20
d) 10 + 4 =
12 3 45 6 789 1011213141516 171819 20
e) Il + 6=
12 3 45 6 7 89101 RI13 1151617 1819 20
l.‘)|2+7:
| 2 3 45 6 7 891011 1213 141516 17 18 19 20






